Rittal - The System.

Faster - better - worldwide.

Montage- und Bedienungsanleitung
Assembly and operating instructions
Notice de montage et mode d’emploi
Montage- en bedieningshandleiding
Montage- och bruksanvisning

Istruzioni di montaggio e funzionamento
Instrucciones de montaje

ARk A S

AE Stahlblech
AE Sheet steel

AE 1030.500
AE 1031.500
AE 1032.500
AE 1033.500
AE 1034.500
AE 1035.500
AE 1036.500
AE 1037.500
AE 1038.500
AE 1039.500
AE 1045.500
AE 1050.500

AE 1054.500
AE 1055.500
AE 1057.500
AE 1058.500
AE 1060.500
AE 1073.500
AE 1076.500
AE 1077.500
AE 1090.500
AE 1100.500
AE 1110.500
AE 1114.500

AE 1130.500
AE 1180.500
AE 1213.500
AE 1260.500
AE 1280.500
AE 1338.500
AE 1339.500
AE 1350.500
AE 1360.500
AE 1376.500
AE 1380.500

=i

-m POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE & SERVICES RITTAL -




<

“ Inhaltsverzeichnis
Table of contents

Versandbeutel/
Contents of the accessory bag

Turanschlagwechsel, einturig/
How to swap the door hinge in single doors

Turanschlagwechsel, doppelttrig/
How to swap the door hinge in double doors

Vorreiberverschluss, Umbau/
How to convert the camlock

Stangenverschluss, Umbau/
How to convert the locking rod

Montageplatte, Einbau/
How to install the mouting plate

Schutzleiteranschluss/
Earthing connection

Flanschplatteneinbau/
How to install gland plates

Verschlussstopfen/
Sealing bungs

Transport

Aufstellung/ siting
Belastungstabelle/Load table
Verlustleistung/Heat loss
Schutzgrade / Degree of protection
Notizen/Notes

Seite/Page
3

4

8+9

8+9

12+ 13
14
15
16
17
18 + 19

Rittal AE Montageanleitung



1030.500
1031.500
1033500 | 1139.500
1034500 | 1054500
1036500 | 1055.500
1037500 | 1058500
1038500 | 1060.500
1045500 | 1076.500
1050500 | 1077.500
1057500 | 1090500
1338500 | 1339.500
Inhalt / Versandbeutel 1032.500 1260500 | 1350500 | 1360500 | 1114500 | 1110.500
Contents / Accessory bag 1035500 | 1073500 | 1180.500 | 1280.500 | 1380.500 | 1376500 | 1213500 | 1130500 | 1100.500
« ;}-EE: 1 1 1 1 1 1 1 1 1
[\
29 5 4 4 4 4 4 4 4 4
©
@ AN 16 3 7 7 1 1 7 7 1
M8 x 30 1 1 1 1 1 1 1 1
— F—F M6 x 25 1
M6x 12 1 1 1 1 1 1 2 2 2
@82 2 2 2 2 2 2 2 2
‘ @61 3 1 1 1 1 1 2 2 2
@§ M8 4 5 4 4 6 6
M8 3 3 3 3 3 3 3 3
M6 10 1 1 1 1 1 2 2 2
A84 2 2 2 2 2 2 2 2
AB4 3 1 1 1 1 1 2 2 2
6} AB4x18 6
- M6 A6 1
v
{ﬁ M8 A8 1 1 1 1 1 1 1 1
@ 3 3 3 3 3 3 4 4 4
== M8 x 48 4 5 4 4 6 6
——— woxzs | s
ﬂmf 48x95 4 12 12 12 8 12 16 16 16
1 1 1 1 1 1 2 2 2

o

Rittal AE Montageanleitung



PH2 "

SM 2432.000
Ne—

Rittal AE Montageanleitung



SM 2432.000

1
PHza\—-

— [ N\N‘
/ \.-,5 w
/ \ /
SO )

A@]miduum_u S

e
, 748

SM 2432.000

SM 2432.000

Rittal AE Montageanleitung






Pz 2

Rittal AE Montageanleitung



SW 10
SW 13

Tk =8,1x108A?s
Mp = 10 Nm

AE 1032.500
AE 1035.500

Tk =8,1x 106A2s
Mp = 10 Nm

M8 x 30

T

M6 x 25

M6 x 12

@82

©

@61

M8

M6

A84

AB4

A8

A6

® e © @

SZ 256X.XXX

M8: Mp = 10 Nm

1032.500
1035.500
M6: Mp = 5 Nm

Mp =5 Nm

Rittal AE Montageanleitung



SW 10
SW 13

Tk =8,1x 106A2s
Mp = 10 Nm

Rittal AE Montageanleitung

M8 x 30

M6 x 12

@82

26,1

M8

M6

A 84

AG6,4

M8

A8

be & @ | ©

SZ 2564.010




Rittal AE Montageanleitung

10




216 (1x)

29 (1x)

AE 1032.500,

AE 1035.500

Rittal AE Montageanleitung

016 %E} o9

Dach
Roof

@ 16 (2x)

AE 1073.500
AE 1180.500, AE 1260.500

'\
AE 1280.500, AE 1114.500 | -
AE 1213.500, AE 1110.500
AE 1130.500

Boden
Base

Riickwand
Rear wall

2 9 (4x)

@ 16 (4x)

AE 1180.500, AE 1260.500
AE 1280.500, AE 1114.500
AE 1213.500, AE 1110.500
AE 1130.500






L

Bei symmetrischer Belastung gilt eine zulassige
Gesamtbelastung

With symmetrical load as shown above the
permissible overall loading capacity is

45° von/of F = 2400 N

A 60° von/of F = 3200 N

Transport bei symmetrischer Belastung senkrecht
nach oben betragt die Belastung je Ringdse
(SZ 2509.000) F = 2000 N

With symmetrical load going vertically upwards
the transport load capacity per eyebolt
(SZ 2509.000) is F = 2000 N

Rittal AE Montageanleitung

2509.000

Mp 305 Nm

Gz
¢
53]

AE 1090.500
AE 1180.500
AE 1280.500
AE 1213.500
AE 1130.500
AE 1260.500
AE 1114.500
AE 1110.500

[

&5

216







Technische Daten AE
Technical Data AE

AbmaBe [mm] Ausfuhrung der Montageplatte Belastung [N]
. Dimensions [mm] Volumen Execution Mounting Plate Load [N]
Best.-Nr.:
Order Number: Volume
' Breite Hohe Tiefe [1] Dicke [mm] Gesamt Montageplatte Tar
Spreads Height Deep Thickness [mm] Entively Mounting Plate Door
1032.500 200 300 120 7,20 2,0
1035.500 200 300 155 9,30 2,0
1036.500 300 300 155 13,95 2,0
1033.500 300 300 210 18,90 2,0
1034.500 300 400 210 25,20 2,0 900 600 250
1030.500 380 300 155 17,67 2,0
1031.500 380 300 210 23,94 2,0
1045.500 400 500 210 42,00 2,0
1380.500 380 380 210 30,32 2,0
1038.500 380 600 210 47,88 2,5
1338.500 380 600 350 79,80 2,5
1050.500 500 500 210 52,50 2,5
1300 1000 250
1350.500 500 500 300 75,00 2,5
1039.500 600 380 210 47,88 2,0
1339.500 600 380 350 79,80 2,0
1037.500 400 800 300 96,00 2,5
1057.500 500 700 250 87,50 3,0
1060.500 600 600 210 75,60 2,5 1500 1200 250
1054.500 600 600 250 90,00 2,5
1360.500 600 600 350 126,00 2,5
1076.500 600 760 210 95,76 3,0
1376.500 600 760 350 159,60 3,0
1058.500 600 800 250 120,00 3,0
1800 1500 250
1077.500 760 760 210 121,30 3,0
1073.500 760 760 300 173,28 3,0
1055.500 800 600 300 144,00 2,5
1090.500 600 1000 250 150,00 3,0 2500 2000 250
1180.500 800 1000 300 240,00 3,0
1100.500 1000 760 210 159,60 3,0
2500 2000 400
1130.500 1000 760 300 228,00 3,0
1110.500 1000 1000 300 300,00 3,0
1260.500 600 1200 300 216,00 3,0
1280.500 800 1200 300 288,00 3,0
3000 2500 400
1213.500 1000 1200 300 360,00 3,0
1114.500 1000 1400 300 420,00 3,0

Rittal AE Montageanleitung



Thermische Warmeabfuhr in Abhangigkeit vom Einbauort
Thermal energy dissipation as a functon of the location

Best.-Nr.:
Order Number:
W (Delta/T = 20 K)
1032.500 20 23 15
1030.500 36 41 28
1031.500 42 47 31
1033.500 36 40 25
1034.500 45 51 33
1035.500 23 26 17
1036.500 30 34 23
1037.500 116 130 85
1038.500 73 83 55
1039.500 70 80 54
1045.500 65 74 48
1050.500 76 87 58
1054.500 108 124 84
1055.500 146 167 112
1057.500 108 123 83
1058.500 136 157 108
1060.500 100 116 79
1073.500 169 195 132
1076.500 121 141 98
1077.500 145 171 119
1090.500 165 191 131
1100.500 182 215 151
1110.500 260 304 210
1114.500 345 407 285
1130.500 208 242 165
1180.500 220 255 175
1213.500 303 355 248
1260.500 210 242 164
1280.500 256 298 206
1338.500 97 107 68
1339.500 94 103 66
1350.500 91 102 66
1360.500 130 145 95
1376.500 155 175 116
1380.500 51 57 37
16 Rittal AE Montageanleitung



Schutzgrade AE

Degrees of protection

Best.-Nr.: Schutzgrad

Order Number : P 2 VA
1030.500 66 08 4
1031.500 66 08 4
1032.500 66 08 4
1033.500 66 08 4
1034.500 66 08 4
1035.500 66 08 4
1036.500 66 08 4
1037.500 66 08 4
1038.500 66 08 4
1039.500 66 08 4
1045.500 66 08 4
1050.500 66 08 4
1054.500 66 08 4
1055.500 66 08 4
1057.500 66 08 4
1058.500 66 08 4
1060.500 66 08 4
1073.500 66 08 4
1076.500 66 08 4
1077.500 66 08 4
1090.500 66 08 4
1100.500 55 08 12
1110.500 55 08 12
1114.500 55 08 12
1130.500 55 08 12
1180.500 66 08 4
1213.500 55 08 12
1260.500 66 08 4
1280.500 66 08 4
1338.500 66 08 4
1339.500 66 08 4
1350.500 66 08 4
1360.500 66 08 4
1376.500 66 08 4
1380.500 66 08 4

1) nach IEC 60529
2) nach DIN EN 50102
3) nach NEMA-Standards (Publikation Nr. 250, bis 1000 Volt max.)

Rittal AE Montageanleitung



Notizen
Notes

Rittal AE Montageanleitung



Notizen
Notes

Rittal AE Montageanleitung



Rittal — The System.

Faster — better — worldwide.

m Enclosures

m Power distribution
m Climate control

m |T infrastructure

m Software & services

04.2011/A 3835601 AE 74

RITTAL GmbH & Co. KG
Postfach 1662 - D-35726 Herborn

Phone + 49(0)2772 505-0 - Fax + 49(0)2772 505-2319
E-Mail: info@rittal.de - www.rittal.de q
D I S S ) St S I T7AL





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (ECI-RGB.icc)
  /CalCMYKProfile (ISO Coated)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Perceptual
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 15
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Remove
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /Times-Roman
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 1200
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.16667
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.16667
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError false
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (ISO Coated)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /DEU <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


